Paper: B.E_B.Tech
Set Name: |Item23
Exam Date: | 26 July 2022
Exam Shift: | 1
Langauge: | Hindi
Topic: Mathematics-Section A
Iltem No: 1
Question
D- 100101
Question
Type: MCQ
Question: | S R — R T Fad et g 5 fau f3x) —f()=xT1 AR f®)=78 @ f(14) TR
?:
A 4
B: 10
C: 11
D: 16
Topic: Mathematics-Section A
Item No: 2
Question
D- 100102
Question
Type: MCQ
Question: A O He feig T A, faig zy=1+2i gl =B, forg Zy Re(zp) <0, ¥ 99T OAB TH qAfgeTg
| T e §, SR FH OB R, M H ¥ S W a AE § 2
A: arg 22=1T—tan_13
B: arg (z;—2z,) = —tan_li
1 2 3
C: |22| = 10
D:

|2Zl - Zzl =0

Topic:

Mathematics-Section A




Iltem No: 3
Question ID: 100103
Question MCQ
Type:
afg s g fam
8x+y+dz=-2
_ x+y+z=90
Question:
AX =3y =L
; : 3 1
% oTd T 8, 9 T9qdA 8x+y+4z+2=0 H fag [h, M, — E)ﬁqﬁ T

A: 3\/3
B: 4
C: %

9
D: E

3
Topic: Mathematics-Section A
Item No: 4
Question 400104
Questi
T;peei ion MCQ
Question: HHET A Tk 2 x 2 <1 Sﬂaﬁﬁﬁﬂ%m det (A)=—1du det (A +1I) (Adj (A) +1)) =4§ | @ A

% faerol & s7erral w1 A & Fehal © -

A -1
B: 2
C: 1
D: _\[5
Topic: Mathematics-Section A

Iltem No:

5




Question

D 100105
Question
Type: MCQ
. . 364

Question: | e quifeh Hen a, ek felT y=1, y=3, x=0, x=1 ¥ foR &4 1 &5FeT —~ §, TR &
A: 3
B: 5
C: 7
D: 9
Topic: Mathematics-Section A
Item No: 6
Question
D 100106
Question
Type: MCQ

60 T n UG1 i &1 G.P. S 2,22,23, .04, 42 43, ¥ afc Tft 60+ n TS 1 [0 T
Question: 225 n

(2) 8 & @ D kn—k) SR T :

k=1
A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Iltem No: 7
Question ID: | 100107
Question
Type: MCQ
1 2 2
pg.(l ~ x+ £7) +log. (1 +x+x") xe(_w WJ_{D}
7l weH f(x) = Secy — CosX ’ 27y

Question:

k , xr=10

x=0, W Hdd g, 9l k T T :




A 1

B -1

C: e

D 0

Topic: Mathematics-Section A
Item No: 8

Question ID: 100108

Question Type: | MCQ

afe f9) {x+a , x<0 x+1 , x<0
X) = HE]T x) = ,
Question: x—4 , x>0 8x) (x—4)> +b , x=0
R W Had &, @ (g0)(2) + (fog)( —2) TR T :
A —10
B: 10
C: 8
D: -8
Topic: Mathematics-Section A
Item No: 9
Question ID: | 100109
Questi
T;Jpees: ion MCQ
x> —x2 +10x -7, x<1
| f(x) = ”
Question: —2x + 10g2 b=—-4), x>1

21 @ bk Tl 9, 56 faw f(x) F1 siferas AR =1 8, F1 9=9 § :

A (-6, —2)

B: 2, 6)

C: [—=6: =2)iJ (2,6]

D: [—JEI —2) W (2; \/E}




Topic: Mathematics-Section A
Item No: 10
Question ID: 100110
Question Type: | MCQ
. . e 2n f 1 — cosx
Question: Ife a= lim ——— a9l f(x) = ——— ,x€e(0,1) %,?ﬁ :
ne ‘= n” +k 1 + cosx
- -y
f 2 f 2
a a
B: il N = JE
r(3) 3
- A
f 2 f 2
a a
/)y
r(3) -3
Topic: Mathematics-Section A
Item No: 11
Question ID: |100111
Question MCQ
Type:
- dy : ) 'rr
Question: | aifg == +2y tamx =sinx, 0<x < =, y| = =0 F T y(x) 1 SHerhd 77 & -
A: l
8
B: E
4
C: l
4




D: é
8
Topic: Mathematics-Section A
Iltem No: 12
Questi
Dot 1100112
Questi
T;Ipees: on MCQ
e fig P39 yaR IarmE € fF gwet fagsiil (1, 2) o (-2, 1) | i & avif @ Am 14 7
Question: | WHT P &1 faguel £ (x, y) =0T, St x—3181 1 faigsii A, B qen 31 1 feigsii C, D WaHed 21
a1 ISt ACBD 1 &5l sTeR € :
A: 2
2
B: SJﬁ
2
C: Sﬁ
4
D: g
Topic: Mathematics-Section A
Item No: 13
Question | 490113
Questi
T;Jpees: on MCQ
T e y2=24x & 65 (o, p) T T W@, W 20+2y=5F daad ¢ | @ Afquae
Question: 2 y2 ) . )
I =1 % &g (a+4, p+4) R Afiels form fbg 9 et 78 s 2
A: (25, 10)
B: (20, 12)
o (30, 8)




D: (15, 13)
Topic: Mathematics-Section A
Iltem No: 14
Question
D- 100114
Question
Type: MCQ
_ fag (1, 2, 4) ¥ R S aTcA! 991 W@ x+y—z=0=x—2y+3z—5 % HHAGL @I hl,
Question: . . 2
fig (1, —2,5) | @& & AR T :
A: 2
2
B: 2
2
C: E
2
D: 1
Topic: Mathematics-Section A
Item No: 15
Question
D- 100115
Question
Type: MCQ
— A A A : - =
W a=ai+j-k T4 b =27 +7-—ak, a>0%1 AR 3 xp F Ffewm
Question:
_T 42 -2k WHENI0E WamEE
A: E
2
B: &
C: E




7

Topic: Mathematics-Section A
Iltem No: 16
Question
D- 100116
Question
Type: MCQ
. o . 4
Question: TF f5UR HeT F T qAl T FAA: o T 3 €1 A PX=1)= E%’ al P(X= 471 5)
T T
A: E
9
B: 24_
81
C: E
27
N 145
243
Topic: Mathematics-Section A
Item No: 17
Question
D: 100117
Question
Type: MCQ
o Z4 5 I
G By, By, E, @1 WER auas] seAd € a91 P(Ey) = ——F, P(E,) = Tp q
Question:
1 =
P(E3) = Tp g1 afe p % wAferskan qon Frefad 7F p, 90 p, &, @ (p, +p,) TR & :
A: g
3
B: E
3




D 1

Topic: Mathematics-Section A
Item No: 18

Question 400118

1(?;pe“:}s:tion MCQ

HAT S={0e [0, 2] : 825in% 1 g2cos?8 =16} F| T n(S) + Z[sec E + 29) cosec g + 29)}

Question: 0%
ENCIEC
A 0
B —2
c —4
D 12
Topic: Mathematics-Section A
Item No: 19
Question ID: 100119
Question Type: | MCQ
. q 1 _ h 1 1
Question: tan [2tan1—+sec1—+2tan1— TR T
5 2 8
A:
B 2
C: l
4
D: E
4
Topic: Mathematics-Section A

Iltem No: 20




Question ID:

100120

Question Type:

MCQ

Question: S (~(p & ~q)) A q:
A e YAEH ©
B: e et
c: (P=q) AqhTHT
D: P=qApF THT
Topic: Mathematics-Section B
Item No: 21
Question
D 100121
_?;pees:tion Numeric Answer

fdi p, q r e R, Boft eFTess =1 @it o 7 €, & forw e

(p2+ )2 —2q(p +1)x + 2 +12=0 T Th T FHHE x2+2r—8=0 H ot TH o g,
Question:

q2 + 1‘2

7 e
P
Topic: Mathematics-Section B
Iltem No: 22
Question ID: | 100122
_Crlue§tion Numeric Answer
ype:
Question: | 5-3fehi =i 7 Yuifer Hemstl, 57 il 1 A 36 F, FI G&N 7 |
Topic: Mathematics-Section B
Item No: 23
Question
D- 100123
Ques.tion Numeric Answer
Type:
_ 3 % YAH OIS ki FUi T A=A {3), {6, 9, 12), {15, 18, 21, 24, 27}, .. H fa«nfsa feran

Question: . . .

21 @119 9g=a § STagal 1 IR SR ¥ |




Topic: Mathematics-Section B

Item No: 24

Question

D- 100124

Ques.tion Numeric Answer

Type:
LRl

Question: X .
BB —x2—x+1)+x B3 —4x2—2x+4)—1=0 F fir= arfas gl #i1 g&n ¥

Topic: Mathematics-Section B

Item No: 25

Question

D- 100125

1Q_ue§tion Numeric Answer

ype:

Queston: | S (1+x)P (1-x)%, p,q = 15, % JAR H x q7 x2 7 7Ok SFAY: —3 U1 —5 €, q 23 1 0Tk
ey

Topic: Mathematics-Section B

Item No: 26

Question

D- 100126

?ues.tion Numeric Answer

ype:
. 1 1

Question: | Ffg n(2n + 1) J'O 1 —x™)?" dx = 1177 Io(l — M)t gy & @A neN sTER

Topic: Mathematics-Section B

Item No: 27

Question

D- 100127

Ques.tion Numeric Answer

Type:
T T 95 y=y(x) 65 (3, 3) ¥ T ST § a1 39 0k o 14, x—341 o ST a1 501 3 3R

Question:

3
¥(>3) 3 S 3 8 T A (%) %1 7 o o T g (o, 6yT0) B °F SR ST
%, A o T % A —

Topic:

Mathematics-Section B




Item No: 28
Question
D- 100128
_?ues.tion Numeric Answer
ype:

T BIYyS ABC &l 9ssil AB, BC 991 CA & HHIHI H¥: 2x+y=0, x+ py=15a T
Question: .

x—y=3 %1 I qw G4 FF (2, a), —%<a<2 2, @ p A ® |
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100129
?ues.tion Numeric Answer

ype:
HA T f(x) =222 —log x, x > 0, ST (0, a) H FEAM § T (a, 4) H AR 81 oo
. . o .1
Question: | y2=4ax % T foig P T =¥ Y@, f4ig (8a, 8a—1) ¥ Bt it B, wig foig [— = OJ RIE T
. . x
T St | afs fog P st i wEiw +%=1 T W+ p I T
Topic: Mathematics-Section B
Item No: 30
Question
D 100130
Question .
Type: Numeric Answer
ekl w2 =1 . .

Question: | 1 &l TRty RfIg P@,2,7) ¥ 26 U RAFAGQAMREI @ =

PQR & &% &1 S TR |
Topic: Physics-Section A
Iltem No: 31
Question
D- 100131
Question
Type: MCQ




@ goHE M =100 kg, m, =10 kg T m,=20 kg T& fam & faagar =qafteq €1 @+t qa
(qs3) HYuRfed & Ud T gohl (9REH) UE A9y g1 faw oft ol (9RE) Ue aeRfEd
@ W T o F 38 YR AR Biell € o So99H my, 2ms ~2 % @0 § SR HT O T Fell
21 FeR1 9H 21 : |

Question: | (AFT g=10 ms~?)
m1 =10 kg
F
—> M=100kg | | m, =20 kg
A 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32
Question 1 409132
Questi
T;.Ipees: on MCQ
Questi foreht 3fean it 6 MHz 119 9 10 MHz 373 o o= forslt off =Fa 27 (asien) o s ged
ueston:
T S G aoTesd W (qiresd S Hrerd) &1 HH 8

A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
Item No: 33
Questi
Dot 1100133
Question MCQ

Type:




ot a0 oy, ot Yehfora g =1 fawea @ 4250 foere fa fame &1 10 fe =g, =18 <2 2250

Question: ﬁﬁ_ﬂ‘;{ﬁlﬁﬂ?ﬁaﬁal feareres fadisr amseT 8nm ;
(3fe log,(1.88 =0.274)

A: 0.02 min ~ 1
B: 2.7 min 1
C: 0.063 min 1
D: 6.3 min !
Topic: Physics-Section A
Iltem No: 34
Questi
ID‘feS 'oN" 1100134
Questi
T;Jpees: on MCQ

T 900 nm TETGEH TS 100 Wm 2 digal areft Teh TR fRTords, Teh T9ae T SAmafad e &,
Question: | 5t for fERTOMS & oiead B 1 U Aohee B oS & @redd 1 em? &% F T aTd BT i

H@T_@Tﬁ 4
A: 3x 1016
B: 4.5x% 1016
C: 4.5%x 1017
D: 4.5%1020
Topic: Physics-Section A
Iltem No: 35
Questi
ID‘feS 'oN" 1100135
Questi
T;Jpees: on MCQ
5 7 & fgo v fog (3 fadl) Wi ¥, fifFS e 12 mm 2 Hﬁu@ﬁmﬁ%@aﬁ%aﬁ

uestion:

A 16




B: 0

C: 48

D: 12

Topic: Physics-Section A
ltem No: 36

Question ID: 100136

Question Type: | MCQ

UF FHAA SFEd e T g &5 e ©

. — M
Question: B =2x 10 ~ ¥ sin (0.5 x 10°x +15x 101 j T.
forgd &= <1 31/ 2

A 6 Vm~1, x-318 & srfew
B: 3 Vm~ L, z-3& % 3Tfew
c: 6 Vi1, z-318 o Frf<U
D: 2108 Vm—1 Z-3A H ajl‘am
Topic: Physics-Section A
Item No: 37
Question 1 409137
Questi
TyupeeS: on MCQ

T gofterg LR 9ftqe § X, = R Ud wftae &1 wfw o P, ¥ 1 T C wftar i ey 9o v 5w
Question: P

TR Sirel S ® o X = X Ud vfed s P, A Sl é ST B
A: l

2

1

B: LA

J2




C: ﬁ

J2
D: Ruwg
Topic: Physics-Section A
Item No: 38
Question
D 100138
Question
Type: MCQ

A N "

T S o fordt (2:‘ +3j)T HH & THEHH T 89 H 9 @ e Ak 3Hh @

Question:
A A

(ui = 4]) m/s2 &, l o 3 TH BT
A: 3
B: 6
C: 12
D: 2
Topic: Physics-Section A
Item No: 39
Question
D 100139
Question
Type: MCQ

X &R Y 2 Freferii & %5l W, f97H w9 a0 waifed 8 @ 2, F &6 61 9 FA9: By T B,
Question: | 1 afg Feeft X & ¥ &1 H@1 200 3 551 20 em TH Fgedt Y & OF w1 e 400 iR e

20 cm ¥, 1 By TH By T ST 11
A: 1 &1
B: 1 432
C: 2441
D: 41
Topic: Physics-Section A




Item No: 40
Question ID: 100140
Question Type: | MCQ
feu gu uftuy § om1 11 7 2
4 Q)
AVAVAY
20 4 Q)
Question: WW \/VV\/ MAI
4 () 4 ()
I M N e N
)
40V
A: 10 A
B: 20 A
c: 4 A
D: 40 A
Topic: Physics-Section A
Item No: 41
Questi
Do | 100141
Questi
T;pees: ion |\ 1cq
e hH | 98 §U HUMGH C, =1 uF, C,=2 pF, C;=4 pF Td C,; =3 pF & e W Hat a9 1
Question: | M 81T :
(M1 20 V 1 S HaAeH | 28 ®)
A: 200 p.c
B: 200 C
C: 10 w:
D: 10 C
Topic: Physics-Section A
Item No: 42




Question

D 100142
Questi
T;JpeeS: on MCQ
Question: | Y& HTE T HId G Teh KV, o ORI o Held o &Y H, THeh a7 oh ATEE 1 Y% 2T
A: dieh X
B: HEEIEN
c: SAEHIA (Sinusoidal)
D: W @
Topic: Physics-Section A
Item No: 43
Question | 490143
Questi
T;Jpees: on MCQ
feoR g/ WY, fordt UsheraRAToTET S11est 719 o 7 Hiet s arqH 40K SgrEl S ® | Sued W H i
Question: | i STTdIek Fell feha-l &@ MU ?
(feam &, R=8.3 JK~ ! mol ™)
A 5810 ]
B: 3486 ]
c: 11620 ]
D: 6972 ]
Topic: Physics-Section A
Iltem No: 44
Questi
Dot 1100144
Questi
T;.Ipees: on MCQ
Ouest S Ueshed THET 19, g P U T&FdH V R Wl §, 3T AFdH =M 9, 8% arafdeh sTEd-
ueston:
F 1/8 YR o Hured foran smar g1 feer U9 W eifan 2@ <1 9F =1 2 ?
A: P




B: 8P
C: 32P
D: 64P
Topic: Physics-Section A
Item No: 45
Question | 490145
Questi
T;pees: ion | ica
ovest 1 cm 5= &t T qFt Y dE, TEM TR i BIE-SRE 729 91 H 22dt §1 Afg a1 g a7
uestion:
75 dyne/cm &, @1 953 Feil § g% 95 1 IF @0 % 999 TF % & : (R w=3.14)
A: 85x1074]
B: 82x1074]
C: TBY10% ]
D: 5IX104]
Topic: Physics-Section A
Item No: 46
Question ID: | 100146
Questi
T;pees: ion MCQ
gedt & eRIAA 9, 32 km ) S9E W TEEA I, Teh Tohe & IR H 70 ufaer et 2l
Question:
(9eaft s F55a1=6400 km)
A: 1%
B: 3%
C: 4 9%
D: 0.5%
Topic: Physics-Section A

Item No:

47




Question

D: 100147
Questi
T;Jpees: 1on MCQ
feu gu fFFHER, 250 g 298 & 3 2ok, U g8 d 2 Nm~ 1 fam 7o aredt fam & g1 92 2
Question: fg S ekl 1 o 3 | foradia fewnedi # <remn s R, o feom & forar &1 stfereham o &em
250 g —"00800—250 g
Vil
A:
242
B: E
2
C: E
4
D: l
J2
Topic: Physics-Section A
Item No: 48
Question 1 409148
Questi
T;Ipees: on MCQ
T 50 kg TSATM 1 de Tk TH T Fedl 8, S & 350 N T 1 a9 (T) T8 Tkl & | de T8
Question: | 4 m/s2% @RI | 4 A 21 T 98 5 m/s2 % 0 ¥ FW Jedl 1 |l fashey g |
(g=10 m/s%)
A T =700 N €rTI, 5fsl o8 F9L 95 &l & |
B: T=350 N €I, el o8 == S W@l 8|
c: T TG HHI T T2 S |
D: I Sd THY T g2 S |
Topic: Physics-Section A




Item No: 49
Question
D: 100149
Question
Type: MCQ
Ouest T gerg, &fast § sE: 30° TS 45° % o0 W gafud Y S €, S T oo sifusran Sl
uestion: . . . )
THETH FHA § Ig9d €| ST TR 771 o1 31914 ©
A 1:4/2
B: 2]
C: 251
D: 1 52
Topic: Physics-Section A
Item No: 50
Question
D: 100150
Question
Type: MCQ
T 0.5 mm T aret S=mrdt (FETS) 1 WA T 6.8 om &6 d THTHM aR &1 & =194 | foman
1€ | 39 A H §©I THE 1 e 1.5 mm Td guid THE &1 Uredid 7 €1 dR % 9 U5 a%e
Question: ;
%1 3T TR ek TR |1 T HA B
[H=mTdt & 9=t Tam W 50 faaeE g
A 6.8 cm?
B: 3.4 cm?
C: 3.9 cm?
D: 2.4 cm?2
Topic: Physics-Section B
Item No: 51
Question
D: 100151
Question

Type:

Numeric Answer




afg wirer 1 S faen § wRfvE 3 wwet wiEw 7 § Ud WA U T W = 5x(1 —x) B

. ) A

Question: | wrfisras 31 o1 1y We Tfew j g
(AT g=10 m/s?)

Topic: Physics-Section B

Iltem No: 52

Question

ID: 100152

_?;pees:tion Numeric Answer
T 1 kg Z9M TE R o &1 fewh (W) ww &fas w1t % ofta: g & fou @6 §, 97 e
ferr & a0 & Traad ¢ Ud 9% g fog 8 St ol B | et & goa™ & ek §e99H &t Th
a5, femw & e I=aad fig W o mE R T 14 e 1 wadA S1e Sl g, S g% ST A

Question:
feafa § et 2, At 3T Frofra =t 4,/% rad s~ 1%, W& x %1 WM A
(g=10 ms~?2)

Topic: Physics-Section B

Iltem No: 53

Question

ID: 100153

?ues.tion Numeric Answer

ype:

T 1 m 1Y S o TR o 471 F7adiss d T o 940 H, Sd Th 1 kg SoFHM shl W AHE1 Sl
T, A AR & dEE H + 0.02 mm I A F qY 0.4 mm 1 gig A ST ¥ 9R A

Question: | * 0.01 mm %I ST % T 0.4 mm AN S0 &1 Afg 70 Fadis wmom § o 3fe (AY)
xx1010 Nm~—2%81 € x &1 71 BT
(AT g =10 ms ~2)

Topic: Physics-Section B

Iltem No: 54

Question

D: 100154

Question

Type:

Numeric Answer




e U R, Nersh o U Yg arell §, a1 g i A 100 Hz 1 STel R YeTsh & 91 o TR Sl

Question: | g |1 & =T 219 50 Hz §1 519 UeTsh R & WIY-T1Y FeAd1 §, o sgfa % Hz Bt &1 x o1 JF
BT |

Topic: Physics-Section B
Iltem No: 55
Question
D: 100155
_I(?;pees:tion Numeric Answer

T TR FARR Gfgeht W, € STerT-Ster WeEd e § o €, el weE ¢ W, ¥

Sranfer fast # <ren e €1 S TEEE ueref @ U del gaers U= F H ST faR T R

gEes 9= R fave V BRI
Question:

€, =3, t =0.5 mm U

try =45 =1mm T 1y
Topic: Physics-Section B
Iltem No: 56
Question
D: 100156
1Q_ue§tion Numeric Answer

ype:

e HieX |y uitae H, giade i fas H 9id SAER Sie T 8 | He o [, 40 cm ¥ 1 36H

S, T T U v, P o G0 07 359 § a1 sian &, Fored wmm fal § =1t 7€ =2 Hqer o

T A 80 cm B ST &1 A x T TH Q B
Question: | ¥ B Q |

P=4()
<«
A C
J
[,

_~
G

|
E




Topic:

Physics-Section B

Iltem No: 57
Question ID: | 100157
?ues.tion Numeric Answer
ype:
agd 39 ofgfd W, fou T uftgy § guret o 1 o ge A BRI
8 () 20 mH 6 H.LF 4 Q) 50mH 8()
VWA rEEH0 I | VWA rBOB0 - VWA
Question: == 0.5 uF = 0.5 uF
1} YW || YWW || VWA
It 05uF 1Q 08uF 40 0.8 wF 20
o\
Ay
220V
Topic: Physics-Section B
Iltem No: 58
duestion 1 409158
_Crlue§tion Numeric Answer
ype:

T T S < A W g 9 0 A e - 6 i s e g, S f

T U TN R | G H TUAdHIF 1.5 § Ud 59k Sl a5k Y31 i 5T UHHHE € U6 R e E |

R &1 O cm BT

(FI%T C U =a¥@§ﬁ, v = Yfdfar {ﬁ)
Question:

dl B 1 i L 1
X -0.10 —0.08 —0.06 —0.04 —0.02 1(
% (cm~1)




Topic: Physics-Section B

Item No: 59

QL{estion 100159

ID:

Ques.tion Numeric Answer
Type:

TESH WFeH H, 99 9IS il YW SHH0 W@l (SAEF) 1 aiesd A ¥ ueEs 9 S drEd
Question: | HeRHYT WET Te T HIS ot fgeia Hermor Tan & == qiesdf 1 et afg “an” €, 91 a &1 A1 8

Topic: Physics-Section B
Item No: 60
Question ID: | 100160
Ques.tion Numeric Answer
Type:
= feu T aftay H, SR SrEE 9/ #1 sifuswan 9H mA B |
4kQ 1 Iy
Question: —MNA—> >
uestion: I
Z z
(100-120) V i V,=60 V< 10 kQ
Topic: Chemistry-Section A
Item No: 61

Question ID: 100161

Question Type: | MCQ




] - 1 Sl Hei 1 oA HRieAq 11 I Hal 9 Hifu |

i e

i - | i - 11
(difires ) ( 3MeRfe )
| (A)  Brfy () dfRa
e (B) [CrF. P~ (I =i faataEt
(C) O, N EREEILIRHERIEE]
(D) PCly (IV) ARSI
9 fou v fasedi § § W& 3w g
A: (A) - (D), (B) - (1), (C) - (IIT), (D) - (IV)
B: (A) - (IV), (B) - (1IT), (C) - (1), (D) - ()
C: (A) - (II), (B) - (IV), (C) - (I), (D) - (III)
D: (A) - (D), (B) - (IV), (C) - (1), (D) - ()
Topic: Chemistry-Section A
Item No: 62
Question ID: 100162
Question MCQ

Type:




HieT™ - 1 &t 7l 1 o™ Shierq -11 i He 9 Hifau |
Hietq - 1 hietq - 11
( werH / 3tfuferamd ) (3AF )

Question: (A)  250,(g) +O,(g) — 2505(g) (I)  Fe(s)

(B) 4NH;(g) +50,(g) — 4NO(g) + 6H,0O(g) (I)  Pt(s) —Rh(s)

(©)  Na(g) +3Hy(g) — 2NH;(g) (L) V505

(D) a=Efd de(l) + H, — & =Hi(s) (IV) Ni(s)

= feu 7Tt fahedl § & W& W M
A: (A) - (IID), (B) - (@), (O - (1), (D) - (IV)
B: (A) - (1), (B) - (II), (C) - (1), (D) - (IV)
C: (A) - (IV), (B) - (1), (C) - (), (D) - (IT)
D: (A) - (IV), (B) - (1), (©) - (1), (D) - (1)
Topic: Chemistry-Section A
ltem No: 63
Question ID: | 100163
_?;pees:tion McQ

= €1 e 1 a9 11 fa=m & fau feu €
ceesion ®wAT1:  Cl, 1 H Hegars e g ot waifvass e it @ T g
| wem R ol w5 e T S e g e R s a9 e 3
I feu fasredi # 9, 3udea wuei & fore waifien sfaa s gfw)

A: FUT 19U HF 11 o1 Tl 2 1
B: HAT [ a1 HAT 11 21 TToid ¢ |
c: HYA | Tl ¢ T R 1 7Ted & |
D: HeA [ TAd € UL RO 11 T T |




Topic:

Chemistry-Section A

Item No: 64

Question ID: | 100164

Questi

T;Jpees on MCQ

Question: | gTaTTerA fafer =1 3w 39 ugedi & ufts & fore waifes swrtt & fomem/ fomet
A T <A & |

B: FIUTIh I ¢ |

c: e Tl 3o |

D: 3rgIfsi =t eTdeT Tiferd ® e i wgfa &9 2t 2
Topic: Chemistry-Section A

ltem No: 65

Question ID: 100165

Question Type: | MCQ

Question: | frfcIfad H | et SWIM H,0, 37792 Uk o fofg #hidd & 2
A R

B: FHfeseRe

C: Fifde 3T

D: TIHTA

Topic: Chemistry-Section A

Item No: 66

Question ID: 100166

Question Type: | MCQ




BeCl, ¥ LiAIH, & sifafsan <di 2
(A) AICL,
(B) BeH,
Question: (C) L.iH
(D) LiCl
(E) BeAlH,
= fqu u fashedi ® & W& S AU
A (A), (D) T (E)
B: (A), (B) 71 (D)
c: (D) a1 (E)
D: (B), (C) @< (D)
Topic: Chemistry-Section A
Item No: 67
Question 1 409167
Questi
T;pees: ion | vica
Question. STRTE ST o H T s, “X” % 3 Jedieh i IR “Y” & 6 Jedish § Hleh TAR I
| SEwd R X qe ey R E
A B(OH), @ NH,
D: NH, a9 B,O,
Topic: Chemistry-Section A
Item No: 68
Question ID: 100168

Question Type: | MCQ




Question: | frAferfEd | 1 €t Uk stfuferan STEUE 1 3SR TR 7 7
A 2H,0, - 2H,0+0,
B: 2NO, + H,0 — HNO,+ HNO,
c: MnOj + 4H* +3e™ — MnO,+2H,0
D: 3MnO3~ + 4H' — 2MnOj +MnO, +2H,0
Topic: Chemistry-Section A
Item No: 69
Question | 100169
Questi
g ;pees: ion | \ica
Question KMnO, 1 &0 a1 1 e7wedta wream # sifafifers e & @y o7 H o 8 S 81 39
uestion:
stfufsran & Frfist i efferdieRRo G H gay aftedq €
A: 5
B: 1
C: 7
D: 2
Topic: Chemistry-Section A
Item No: 70
Question ID: 100170

Question Type: | MCQ

61+CH4 — A+B

Question:
ST argHedd AfMfR g H, A M B T
A C,H,. T,
B: CHCl, @&l H,
C: CH; a9 HCl




D: C,H, 941 HCI
Topic: Chemistry-Section A
Iltem No: 71
Questi
ID‘feS 'on 1100171
Questi
T;Jpees: on MCQ
Question: 100 mg p-TRHIATA Ten fufsher st & fagor s o w0 & fau Frefafed Tl § 4 fadmt
| Sy gdtE 2
A: g AT
B: fafeet Sia &w1em 2-5 ft &I &
C: FEA
D: fa=m TLC (qdeft 93 aoferaE)
Topic: Chemistry-Section A
Iltem No: 72
Questi
Dot 1100172
Questi
T;Jpees: on MCQ
Question A & SHHE T Fared o fufsran aon st serg aremm § seE 9 sifufea § Sfa @m &
u | .
FROE
A: Herege | Afq HgmA
B: [ENIRERCIROCLIG]
c: Hekd HeTehl 1 o=
D: T & SAFHd J9E
Topic: Chemistry-Section A
Iltem No: 73
Question ID: 100173

Question Type: | MCQ




Question: fr=fafaa § 9 =@ a1 Jifes tWifes T84 82

)
C:
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 100174
Question Type: | MCQ

freafafaa sifufsrn § a7 9 S A T B € ¢
@

Question:

[Ag(NHg),]* OH ay  AD

» B

y

H CHO




A: @
H  CH,0OH CHZOH
H OH
B: - @ @
H CHO CH,OH
L OH
C: N é @
H COOH COOH
2 OH
D: N é @
H COOH CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question ID: 100175
Question MCQ

Type:




sffsraes s Frefafad Tenrla

Ph
I
Question: Ph—-C-CH
I
CH,
T G et T simEe (PhMgBr) | sifufshan & a1 8, 98 #
A CH,-C=N
B: Ph—C=N
O
C: I
CH3;—-C—-O-Ph
Ph—C—CH,
D: Il
O
Topic: Chemistry-Section A
Item No: 76
Question ID: 100176
Question Type: | MCQ
frefafaa sifufsran 1 7= s #
OCH,
Question: 02N
(i) Na/liq.NH;
>
(if) CH3CH,OH
OCH,
H
A:

O,N




OCHj
H
B:
H,N

OH
CZ OZN

OCHj,

H
D: 02N
Topic: Chemistry-Section A
Item No: 77
Quest
ID‘feSt'O” 100177
Questi
T;pees on MCQ
frefafed ey gl & wnfae &1 98 9 ¢ :
R S e N, Cl~
<o/
Question:
(A) (B) © @ (D)
OCH; NO, CN

A (A) > (B) > (C) > (D)
5 (A)> (©) > (D) > (B)




D (©) > (D) > (B) > (A)
Topic: Chemistry-Section A

Iltem No: 78

Questi

ID‘feS 'on 1100178

Questi

T;Jpees: on MCQ

Question: | TNk 3Tred T UeATUfoyedi Temgahiat &1 tfufran fFefafad § 9 fFg v 1 s 82
A CEIDIECC P IE CY

B: Hidg

C: HUTAF STIATSIHR

D: SAAEMF HAYHSIh
Topic: Chemistry-Section A

Iltem No: 79

Question ID: 100179

Question Type: | MCQ

Queston: | Forefetfiad # @ s o T st e 7

/OH

H-C
H-C-OH
A: HO—fle—H O
H-COH
H-C

|
= |




HOCH H
20
B: H H
H OCHj
OH OH
HOH,C o H H o CH,OH
c: H H o H H
H H
OH OH HO OH
OCHj
H OCHj
H OH
D: HO H
H OH
H OH
CH,OH
Topic: Chemistry-Section A
Item No: 80
Quest
uestion 100180
Questi
T;pees:t on vica
= & wem feu e E 1w A PR e (A) T TR I RROT (R) e fRA T
IRRYT (A):  FAsiei AICI, =1 suferfa § CH,Cl =1 Bfaefl § sifafsran wreEifirer &9 §
vt W o Tl p-Hfere el T &
uestion:
T (R) : AICL, ¥ Hree for= % sroT el 1 — NH, 9 $Tshah 81 STl &, 31d:3018
% B9 H A Ufett @ afer faedt g1

sy ferw T fersedi # A SRR HAT ¥ e e S S R




A (A) T (R) SHi 9 € 3R (R) W&l == § (A) &l
B: (A) @11 (R) B T § W (R) HEl AT TR § (A)
c: (A) T B, T (R) 39 2|
D: (A) 379 § T (R) I 2
Topic: Chemistry-Section B
Item No: 81
Questi
Do 100181
?ues.tion Numeric Answer
ype:
Faeh gl & ufadi § FreRfiia seiriftee &l Sta § Hiere 2 L e, a8 Mg &1 9=d1 48 ppm
%, o ® 39 faerem § Mg wemsi @1 e xx 1020 WEY €1 x 1AM ¥ |
Question: o
uestion ( e
(fem & : Mg ot Tk Tafd 24 g mol—1; N, =6.02 x 108 mol 1)
Topic: Chemistry-Section B
Item No: 82
Questi
Dot | 100182
.IQ.ueS_tion Numeric Answer
ype:
Quest T 2.2 bar R ESISH a9 St o Tk fagor § wefd 9 40% SRSeM €1 SRSSH &l ek g
uestion:
4 bar | (e quis #)
Topic: Chemistry-Section B
Item No: 83
Questi
Do 100183
_I(?;pe;tion Numeric Answer
TARI o1 o1 2 o AT 1 x T G T 3elereiA a1 <J2H hi qTes HHM B Sl 1 x o 7 @
Question: | (Feheaq TTFTFE )

(3o i Hafd 9.1x 103! kg &, =21 1 §&99H 1.6 x 10~ kg)




Topic: Chemistry-Section B
Item No: 84
Question
D: 100184
Ques.tion Numeric Answer
Type:
2.4 g T I TE TS i SAfershal H 298 K G2 1 atm T& T 91 Heiamd § #3d €, a1 Ferd
T} ST A9 298 K & sIgeht 300 K &1 S|l 81 shiet o 38 €& o T¥edt qfeda —x k] mol~! 1
Question: !
uestion R | (F te5 1)
(fen & : o0 ST w1 Ssenfar 20,0 k] K—1 81 e 1 Ig e 9+ Ao 1)
Topic: Chemistry-Section B
Item No: 85
Question
D: 100185
_?;pees:tion Numeric Answer
0.5 M TEfEe 3T % 800 mL & Tk sieht § T fohar | 59 351 ST o71en & 7 iR 115 g
AEfeeh 3T 38 T a9 99 AECE o % faerdd wY HieRkdl ax 1072 M HHH ¥ |
Question: o
(Frepeaw o #)
(Aefeer T it Hiew Hefd 63 g mol ~1 7)
Topic: Chemistry-Section B
Item No: 86
Question ID: | 100186
?ues.tion Numeric Answer
ype:
Afwferan
Cu(s) + 2Ag ™ (aq) = Cu? ™ (aq) +2Ag(s)
% foaw 208 K X | feorisr 2 1015 & e sifufman
Question:

%Cu”(aq) + Ag(s) = % Cu(s) + Ag+(aq)

% foru | feei xx 108 %, x wI HE & | (feFeam quis o)
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Chemistry-Section B

Item No: 87
Question
D- 100187
Ques.tion Numeric Answer
Type:
. Fe,0, § T& Hie1 A Wd FH o fou sfrewses smew &6l 7o F () # @ |
uestion:
(e quiisr H)
Topic: Chemistry-Section B
Item No: 88
Question
D- 100188
Question ,
Type: Numeric Answer
Ovest % Afufsrar A - 2B+ C % foru 5@ sifufras A &t Irsdr #990: 0.5 991 1.0 mol L—1 &, t 21ef
uestion:
3T € 100 s @1 50 s | stfufsran =it =ife © | (frepeas quie #)
Topic: Chemistry-Section B
Item No: 89
Question
D- 100189
_Crlue§tion Numeric Answer
ype:
Quest [Co(H,0)JCL, T [Cr(H,0).]CL, & fau Fae fem Trae Aol & °F % 7o 3= 8
uestion:
o
Topic: Chemistry-Section B
Item No: 90
Question
D- 100190
?ue§tion Numeric Answer
ype:

Question:

T o YTl i 3AFEAfd H Cl, | S SAfsRa1 shteh Toh 318 X <dl €1 X H SEgSHl ol § T ©




